
Economics II

Inflation,
Part I



DEMAND-PULL INFLATION AND GROWTH OF REAL OUTPUT

The aim of the lecture is to deepen understanding of the nature and causes of
inflation, respectively inflationary process whose source is the fault of the
aggregate demand and explanation of the effects of inflation on changes in
equilibrium production (income) assuming positively sloping aggregate supply
curve in the short term.

Content:
� Introduction

� Inflation rate and output growth rate

� Inflation rate and nominal output growth rate

� Conclusion – summary, list of tasks for students

� Determination of inflation rate and real output growth rate: 
adaptation path



Y (%)

P

0

E1

AD3

AD1

P1=1,00

P2=1,05

P3=1,10

105

LAS

E2

SAS1
SAS2

AD2

95 Y*

E1: W1/P1 = 1,00/1,00 = 1,00 ; πe
1= π1 = 0

E2: W1/P2 = 1,00/1,05 = 0,95

90 110

E1

Y (%)

π 
[%]

LPC

Tento obrázek nyní nelze zobrazit.

(((( ))))e
1 1SP π =0%

10595 110

π2=5

π1=0

Y*

E2

-5 

E4

90 0

(((( ))))e
2 2SP π =5%

t t 1 t t 1 t t 1
t

t 1 t 1 t 1

P  - P W  - W q  - q
 =  =  - 

P W q
ππππ − − −− − −− − −− − −

− − −− − −− − −− − −

E3

E´2

� Demand-pull inflation, SAS decrease



SP curve reflects such as combinations of output growth and inflation rates

that are compatible with the expected rate of inflation (it is a reformulation of the DSAS curve).

SP curve:    πt  = πe
t  + g .Ŷt  + zt

g … π share growth in the period and 

changes in income in the period in %

Ŷt = [100 . ln(Yt / Y*)]

zt … cost-push inflation contribution

DSAS … πe
t + 1/δ (Y -Y*) = SP …πe

t – ε (u – u*)

SP curve and long run Phillips curve
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DG curve = dynamic aggregate demand curve (DAD)

The growth curve of demand economics (DG) is a combination of inflation and the 

growth rate of real output (income) compatible with the growth rate of nominal output

that is constant along the DG curve.

DG curve (line):
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„The distribution“ depends on:

1) Type of forming

of πe

2) Slope of SP, i.e. g

Determination of inflation rate and real output rate: 

Adaptation path

Solved problem: how the permanent increase in AD growth is "divided" into real output growth and inflation

rate.

SP1 (π1
e = 10%)

DG2 (yn = 15%, Y* = 100)

DG1 (yn = 10%, Y* = 100)
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Adaptation path, the inflation rate and the rate of output growth in case of adaptive 
(static) method of forming expected inflation

Conclusion: A permanent increase in the AD of adaptive (static) method of forming expected
inflation increases actual production in a short run!
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Adaptation path of inflation rate and the growth of production provided that 

the expected inflation rate is unchanged, i.e. j = 0
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Adaptation path and rational expectations
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List of tasks for students

Exercise “Demand-pull inflation and real output growth”

1. Explain the causes of demand-pull inflation and analyze the relationship 
between the growth rate of real income and inflation rate (SP curve).

2. Characterize the SP curve; explain the equation and correlation with long-
term Phillips curve.

3. Characterize the DG curve and explain the equation of aggregate demand 
growth curve.

4. Explain the adaptation path, the inflation rate and the rate of output growth 
in case of adaptive (static) method of forming expected inflation.

5. Explain the adaptation path; the inflation rate and the growth rate of 
production, provided that the expected inflation rate does not change.

6. Discuss adaptation path based on rational expectations.


